Ministério da Ciéncia, Tecnologia e Inovacoes




Quick Guide to MLE

What is the distribution that represents your stochastic variable?

Is it Gaussian? Poisson? Bernulli?
What is the inner model that produces those variables?
Is it linear? Polynomial? Is it a exponential?

If your variable is idd, then get the logP and find the most probable
parameters by using your preferred minimization method.
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Logistic Regression
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probability of something happening F
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Logistic Regression
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Logistic Regression
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Logistic Regression
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Robustiness — Example Ridge regression

Underfitting " Balanced Overfitting

2] _
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OLS estimate
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Ridge estimate \(

|Bll, = /B3 + Bt + -+ B

~ ridge

A = argmin||y — XB||3 + A||B||3
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Adapted from https://towardsdatascience.com/ridge-regression-for-better-usage-2f19b3a202db
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